
Inequalities on a Number Line
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1(a) Which value for 𝑥 will satisfy the following inequality?

6 > 𝑥 ≥ −5

[1 mark]

𝑥 = −10 𝑥 = −1 𝑥 = 6 𝑥 = 10

1(b) Which inequality is satisfied by 𝑥 = 3?

[1 mark]

𝑥 ≤ −3 x > −2 3 > 𝑥 > −9 𝑥 > 3

1(c) Which inequality is equivalent to the following?

6𝑥 − 3 < 2𝑥 + 9

[1 mark]

x <
6

8
𝑥 > 3 𝑥 < 3 𝑥 >

6

8

Turn over for next question

Turn over ►

3
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2(a) Give the inequality described on the number line below. 

[2 marks]

Answer

2(b) Give the inequality described on the number line below. 

[2 marks]

Answer

2(c) Give the inequality described on the number line below. 

[2 marks]

Answer

Turn over for next question

Turn over ►

6

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8
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3(a) Give the inequality described on the number line below. 

[2 marks]

Answer

3(b) Give the inequality described on the number line below. 

[2 marks]

Answer

3(c) Give the inequality described on the number line below. 

[2 marks]

Answer

Turn over for next question

Turn over ►

6

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8
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4(a) Label the number line that describes the following inequality:

𝑥 < 4

[2 marks]

4(b) Label the number line that describes the following inequality:

𝑥 ≥ −1

[2 marks]

4(c) Give the inequality described on the number line below. 

−2 ≤ 𝑥 ≤ 8

[2 marks]

Turn over for next question

Turn over ►

6

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8

-6     -5   -4    -3    -2   -1     0     1     2     3     4     5      6     7     8
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5 Labelling the number line accordingly, display the following inequality on the number 

line below. 

−0.7 < 𝑥 ≤ −0.1

[2 marks]

Answer

Turn over ►

2



7

6
In order to be profitable, a bus company requires a certain number of passengers for 

each tour; however, the bus can only hold so many seated passengers. 

6(a) Write an inequality for a bus, 𝑏, if the company requires more than 6 passengers to 

be profitable but can only hold 54 passengers. 

[3 marks]

Answer

6(b) Label the number line to describe this inequality.

[2 marks]

END

5

6    12   18  24   30   36   42   48   54   60  66  72  78    84  90
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